OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (EER - BRREER)

®1—4 EERFER - EE5
1/ 1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
b7
= - =
T K3 =
nE WEE s | oo | en | ke | ok | tm | ma |as | 2 | & |2st]| x5 | 28F | tm | s | a2t | B®2 | Ko | a#
&S m| & K B
104/ oY I40x9Y (MEHCFC— 1 0 1 1 0 0 0 i 0 0 0 760 0 0 0 760 0 0 0 760
22)
38| X FFTH LY s| o] 5] 5 0 0 0 5| o] o 0 9 0 0 0 90 0 0 0 90
ﬁg-l- 6 0 6 6 0 0 0 6 0 0 0 850 0 0 0 850 0 0 0 850

PRHFE « SH02FE




OBELBIHERUVBHEONRILFMERIRFHER
(EBR - A - 2T - faREhES)

1. B - BEVERIDEE

x®1-4 #HEFER - FEH

1/ 1R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v

e

e B £ s e | 2 | nm | oo e |omer | mor | B | K [en| xm | 288 | 1w | mn | aw [ BRR | TT | aw | 7

w | H o
Blrer=ryL 1 1 1 1 0 0 0 i 1 0 1 6 0 0 0 6] 5000 o| 5000 5006
BlrFLRVEY 1 1 1 1 0 0 0 1 1 0 1 3 0 0 0 3 2700 0 2700 2703
1B1—%5%—) 1 i 1 1 1 0 0 2 1 0 1 16 14 0 0 30| 18000 o] 18000] 18030
g0l Ly 1 1 1 1 0 0 0 1 1 0 1 2 0 0 0 2 1400 0 1400 1402
22N, N—=UXFILHRILLTIR 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 o| 13000 ol 13000 13000
00| ML Y 1 1 1 1 0 0 0 1 1 0 1 5 0 0 0 5 29000 0 29000 29005
308|= v &L 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
36l kOF/ v 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1900 0 1900 1900
gy oy 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 3900 0 3900 3900
55t 5 8 9 5 1 0 0 6 8 0 8 32 14 0 0 46 74900 0 74900 74946
PRHFE « SH02FE




OBELBIHERUVBHEONRILFMERIRFHER
1. HEH - BEERIOKET (EBER - ML)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
it
B K& @%
T K3 AE
i1 B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
s m | W BD
BlzFIRVEY 1 0 1 1 0 0 0 1 0 0 0 12000 0 0 0 12000 0 0 0 12000
80| LYV 1 0 1 1 0 0 0 1 0 0 0 11000 0 0 0 11000 0 0 0 11000
A&t 2 0 2 2 0 0 0 2 0 0 0 23000 0 0 0 23000 0 0 0 23000

PRHFE « SH02FE




ORHHHERUBHEDOTRIEEMEREETER
1. HEH - BEERIDEET (EER - KM - RERBEERX)
£1—-4 FEFER - £33
(1 /1R=%)

s&mE BEEEFH() B AR (1) BB (1) HEH R (ko/ 550" {142 4ng-TEQ/ %) BRI ko/TES SV
B 75
% - o
T K3 =5
4] MEET gy | mm | ook [oxm | ok | o e | am | = [ & |en| xs | 5P| wm | mm | ent [ EFD| o | em
MB(XFLVER (4, 1—7z=LV) =¥ 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1Y TR—b
= 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

PRHFE « SH02FE




OBELBIHERUVBHEONRILFMERIRFHER
1. BEH - BEVERIOSRE (EER - /LT - i - I TREHER)

®1—4 EERFER - EE5
1/ 1R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v

e

e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg | am | SEF | wm | mn | e | BEn | TR an |V

B e

2102, 2—UTOE—2-VTF I/ FENTI 1 0 1 0 1 0 0 1 0 0 0 0 1600 0 0 1600 0 0 0 1600
243 I/;‘/f FHxH 1 1 1 1 0 0 0 1 1 0 1 0.58 0 0 0 0.58 230 0 230 230. 58
405|1F 5 =B 2 3 3 0 2 0 0 2 3 1 4 0 13 0 0 13 16 36 52 65
w8lxFL+ro41L > 2 0 2 2 0 0 0 2 0 0 0 61 0 0 0 61 0 0 0 61
|t 6 4 7 3 3 0 0 6 4 1 5 61 1613 0 0 1674 16 36 52 1726

PRHFE « SH02FE




OBELBIHERUVBHEONRILFMERIRFHER
1. e - BEERIOERET (EEE - EFIH)

®1—4 EERFER - EE5
1/ 6R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
i1
B | T Tk 2
7] 0&
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 m | @ B
475 Y LBROZDKEME of of 1] of of of of of of of o 0 0 0 0 0 0 0 0 0
7oy vwi—751 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 24 0 24 24
Bl7Er=MY )L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2300 0 2300 2300
Wo—7z85—0 1 3| 3 1 0 0 0 1 I E 1 0 0 0 1 13 0 13 14
2ls—7zs/—1-[2, 6-vson—4 1 1 1 1 0 0 0 1 1 0 1 0 0 0 0 0 0 0 0 1
— (hUZAOAFII) 7xZ)0] -3
—27/—4—-[ (K)ZLAOXFI)
Z»?4:»]E5V—»(%%747D
-
|EHETILFIRYEY IR VBRUTD 1 3 3 1 0 0 0 ! 2 ! 3 0 0 0 0 0 2 6 3 3

B (PLFVEORFRHEN,T1 0514 F
TDEDRUVZDEESWIIRDS, )

M3 —qyFaRFy—2—-—rNYz)40 1 1 1 1 0 0 0 1 1 0 1 8 0 0 0 8 20 0 20 28
f%wNyX?:UF(%%7wh5:w

BlrFiRyEY 5 5 5 5 0 0 0 5 5 0 5| 33518 0 0 0| 33518 4076 0 4076 37593
S6lTFLVvAES R 1 0 1 1 1 0 0 2 0 0 0 79 580 0 0 659 0 0 0 659
s7ltFL v Yya—LE /S IFLTI—FI 1 1 1 1 0 0 0 1 1 0 1 16 0 0 0 16 1 0 1 17
BTFLYFYI—ILE/AFIIT—FIL 1 1 1 1 0 0 0 1 1 0 1 0 0 0 0 0 15 0 15 15
60| TFL Vo7 I B 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0
62|IN, N' —IFLYER (YFFHINZ 1 1 1 1 0 0 0 1 1 0 1 0 0 0 0 0 1 0 1 2

V) v HYEN, NN —IFLYVER
(PFFHILNZVER) FEIRDOELLEY (

e IAETRIEITVET)
o[+ LY 6 6 7 6 0 0 0 6 6 0 6] 31234 0 0 0| 31234| 34309 0| 34309 65543
QBERUVZF DALY 0 1 1 0 0 0 0 0 0 1 1 0 0 0 0 0 0 4 4 4
83[y X v 2 2 2 2 0 0 0 2 2 0 2 15 0 0 0 15 2 0 2 17
8T A xH—I 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 4 0 4 4
86y LYV —IL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 60 0 60 60

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
1. e - BEERIOERET (EEE - EFIH)

®1—4 EERFER - EE5
(2 / 6R—%)

s&mE BEEEFH() B AR (1) BB (1) HEH R (ko/ 550" {142 4ng-TEQ/ %) BRI ko/TES SV
Bty
T TK3 =5
na MBS g | BE | 2o | ks | ax | 1w | |asr | 2 | & [ast| x5 [ 258 | tm | e | an | BRE | Ko | 2t
R24a—s0O0—-3—TFIL—1—XFJ—N 1 1 1 1 0 0 0 1 1 0 1 1 0 0 0 1 3 0 3 4

—[4— (RS MYLAFY) RUUIL]
ESV—IL—5—-hIRFHIF (BIE+
V7TV ESK)

10012—s00—-2" , 6° —YITFIL—N— 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 99 0 99 99
(2=7ARFIFIL) PTEIMP=ZUFR
GEILFZo0-))

M54 — (2—s007zx=J)L) —N—>40O 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 100 0 100 100
~NEFYV-N-IFI—4, 5-Yk RO
—5—F%Y—1TH=-Fr5Y—L—1—
ANVKRFHIR BRIV ISHIR)

127\7 0QmIL L 2 2 2 2 0 0 0 2 2 1 3 80 0 0 0 80 20021 3 20024 20104
134 (BB =)L 1 1 1 1 1 0 0 2 1 0 1 2400 73 0 0 2473 86 0 86 2559
148N, N—YITF)I—3— (2, 4, 6—} 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 63 0 63 63

JAFILTTZIJVRILEZIL) —TH=1
2, 4—KYFJ—)L—1—HIILKRxY

IR MEHT7ZRAMNO—I)
150 1, 4—9‘2—:\:-&‘/ 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 16 0 16 16
15211, 3=SHINESAILFA—2— (N, 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1 0 1 1
N=—IUXFIT7I/) —FOnY (Bl&Ah
W T)

16013, 3’ —2/snOQn—4, 4’ —Y7X) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 91 0 91 91

TIITZIVAXY Y

'z

183|4 — (2, 4—vsOoaRVYIAIL) —1 1 1 1 1 0 0 0 1 1 1 2 0 0 0 0 0 1100 4 1104 1104
, 3=UAFI—5-EFVYII=4~—h
IMIVRIEF—bF BIZESYVL—1)

18elrvoOxyy (BAEIAFLY) 1 1 1 1 0 0 0 1 1 0 1 5 0 0 0 5 21 0 21 26

91|11, 3—=IFASVv—2—-qa)Fr~vOv 1 1 1 1 0 0 0 1 1 0 1 5 0 0 0 5 28 0 28 33
%ﬁ4v7u€»(%%4v7u%jsy

212 (RS) —0, S=IAFI=FEFIK 1 1 1 1 0 0 0 1 1 0 1 0 0 0 0 0 3 0 3 3
i¢w7$F%j?—h(%%?t7I—

213N, N=SXFIJIFPEINTINR 1 1 1 1 0 0 0 1 1 0 1 1 0 0 0 1 340 0 340 341

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER

1. e - BEERIOERET (EEE - EFIH)
x®1-4 #HEFER - FEH
(3 /61=%)
sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
B -7
B kit Eﬁ%
T K3 AE
g WHET s [ mm [ op | xm | ok | m s | ent | 2= | Kk |en| s | B8P | 1w | mx | ax [EFZ| o | ewm
= £/ B e
216N, N=SXFILT7=Y Y 0 1 1 0 0 0 0 1 0 0 0 0 0 0 1300 0 1300 1300
232N, N=SAFIRILLT IR 1 2 2 1 0 0 1 2 0 1 0 0 0 1 6705 0 6705 6705
280|2F L v 2 2 2 2 0 0 2 2 0 780 0 0 0 780 25 0 25 805
283[5 4 A% V5T 1 1 1 1 0 0 1 1 0 4.5 0 0 0 4.5 0.68 0 0.68 5.18
28| F A Y ABEO, O—YIFIL—0— (2— 1 1 1 1 0 0 1 1 0 0 0 0 0 0 1 0 1 1
AVT7OEL—6—XFI—-4-E)IY
) BIBRSATY V)
B1FA Y ABEO, O—TUXFI—0— (3— 1 1 1 1 0 0 1 1 0 1 0 0 0 1 6 0 6 7
AFJ—4—-=—tA7z=)) (BI&ETx
—hOFAVRXIFIMEP)
2B3[F A Y ABBO—4—TOE—2—-40O007 1 1 1 1 0 0 1 1 0 0 0 0 0 0 1 0 1 1
IZ)—0—IFIL-S—7aEIL (5%
707z /KR)
25652 v 0 1 1 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0
0NFRNSITFAFUSLYRILT 4K (Bl& 0 ! ! 0 0 0 0 ! 0 0 0 0 0 0 9 0 9 9
JRIWVT4FL)
BRI (BEEARKRL, ) 0 1 1 0 0 0 0 0 1 0 0 0 0 0 0 19 19 19
25| R LR F MY A 0 2 2 0 0 0 0 2 0 0 0 0 0 0 ¥ 0 1 1
296|1, 2, 4— FNYAXAFIRVEY 6 6 7 6 0 0 6 6 0 623 0 0 0 623 1016 0 1016 1639
297(1, 3, B—hUXFIRVEY 6 6 7 6 0 0 6 6 0 226 0 0 0 226 302 0 302 527
30| pLT Y 9 9 10 9 0 0 9 9 0 16130 0 0 o| 16130 31426 o| 31426 47556
2|1 FT7H5 L v 1 1 2 1 0 0 1 1 0 1 0 0 0 1 1 0 1 2
305[88Mb& 0 1 1 0 0 0 0 1 1 0 0 0 0 0 400 3 403 403
36|ZT U VIVBBANFHAFL YV 0 1 1 0 0 0 0 1 0 0 0 0 0 0 1 0 1 1
308|1= v L 0 1 1 0 0 0 0 1 1 0 0 0 0 0 2600 10 2610 2610
309[= w LR 0 2 2 0 0 0 0 2 1 0 0 0 0 0 5700 1 5701 5701
3232, 4—ERXR (ZFIVTFTI/)) —6—XAF 0 1 1 0 0 0 0 1 0 0 0 0 0 0 6 0 6 6
WFA=1, 3, 6=pYTIY (BlEY
XbhYV)
PRHFE « SH02FE




OBELBIHERUVBHEONRILFMERIRFHER
1. e - BEERIOERET (EEE - EFIH)

®1—4 ZEFER - &5
(4 ) 6R—3)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
-1
B K& Eij%
T K =K

g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 w | B
3292 (N, N=SXFLIFAHINI Y 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 17 0 17 17

B) N, NN —IFLYER (FAALN

;E*()lﬁ‘j'ﬁﬁf:}) (BIBRY) A—/IX—h
RER] | NP 0 1 1 0 0 0 0 0 0 1 1 0 0 0 0 0 0 1 11 11
3|4 —k ROFORAFRAFIL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 26 0 26 26
M7 =)L 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
3495 J—)L 1 2 2 0 1 0 0 1 2 0 2 0 0 0 0 0 10 0 10 10
B4l H BT — S LTI —TFI 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2 0 2 2
IB|THIVEEER (2 —ZFILAFIIL) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 4 0 4 4
BN2—AHH4— v Y—TFIAI)—-3—-4Y 1 1 1 1 0 0 0 1 1 0 1 17 0 0 0 17 54 0 54 Al

FOEL-5—-7z=)FhSERO—4

H—1, 3, 5—FFPYPIY—4—%v

CEi=E )
BN—9—> v Y —TFIL—N’ T 1 1 1 1 0 0 0 1 1 0 1 1 0 0 0 1 1 0 1 2

% |

FIRVYAIL) =3, 5=V
VERSYRN Rl&TT 7/

.

’

(4-—
FRY
k)

X

Bals—> vy —TF=4— ({[ (1, 3 1 i i i 0 0 0 i i 0 1 2 0 0 0 2 9 0 9 10
—UAFI—5 T )XY —4—FEF
YIL) AFUFV] PI ARV} AFIL
) RV T—h (B&T7zvEQFY X—

b
68|44 — 44— v YU—TFIT /=)L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2 0 2 2
92— (4—49—vY—TFIT7xT/)FY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1 0 1 1

) YoanFUL=2-TOEZ)L=2)L
g)« v b (Bl&7ONILFY RXIEBPP

3M[N= (4 =9 —2 v ) —=TFIRVYII) 1 1 1 1 0 0 0 1 1 0 1 0 0 0 0 0 1 0 1 1
—4-/00-3—-ITF)I—1—XFIE
SY—=I—5—-HIRFHIRK BE&TT

J21xVESR)
3743 o (L KB RO T DKEMEE 1 i i 1 of o] o i i 1 2 1 0 0 0 1 250 2 252 252
32|/ e —~xyy 4 1 4 4 0 0 0 4 1 0 1 744 0 0 0 744 9100 0 9100 9844

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
1. e - BEERIOERET (EEE - EFIH)

®1—4 EERFER - EE5
5/ 6R—%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
Hits- 15
E| T T 2
7 =1
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 | ® BE
395( =LA % v —BmER D KRS 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 9 0 9 9
40212 — (2 —=RYYVFF7YYIAF2) —N 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 45 0 45 45
—i?»?tb?lUF(%%X7ITt
P
40513 > =L &M 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 5 6 " "
2078y (AFPITFLY) =FILFILI—F 2 4 4 1 1 0 0 2 4 0 4 0 38 0 0 38 132 0 132 170
W (TIVFIEDRFEN1 20515 F
TRHLDRUVZDEEWICIRD, )
2097 (AFPIFLY) =RFUILT—F 1 3 3 1 0 0 0 1 3 1 4 23 0 0 0 23 153 1 154 177
VBT ZATIVF YDA
Moy (AFxvTFLY) =/=)T =) 1 2 2 1 0 0 0 1 2 0 2 1 0 0 0 1 3 0 3 4
IT—7)
AMAEINLTILTER 2 2 3 2 0 0 0 2 2 0 2 46 0 0 0 46 136 0 136 182
MV AYRTZEDEEY 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 5 1 5 5
y4lmik< LA Vg 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
420X 52 JLEE A FIL 1 1 1 1 0 0 0 1 1 0 1 26 0 0 0 26 1 0 1 27
A25IN—= A FILHINRIVEE2 — 4V 7O 1 1 1 1 0 0 0 1 1 0 1 2 0 0 0 2 2 0 2 4
7f:w(%%4V7Dﬁw72MMIP
c
21 IN=XFILALARIVEET —FTFIL (B 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1000 0 1000 1000
ZHNNYIRIENAC)
428IN— X FI AN VE2 - AT — 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0
ZFL72z=)b (BI&T7 T/ THLTXIE
BPMC)
B1xF)= (E) —2— {2—[6— (2— 1 1 1 1 0 0 0 1 1 0 1 2 0 0 0 2 4 0 4 6
STITTIFY) BYIVUY-—4—A)
ZF2] 7N =3 =X KFOTHY
Z-b BIBETVEZ2bOEY)
438 X FFTHL Y 4 1 4 4 0 0 0 4 1 0 1 58 0 0 0 58 3 0 3 60
W8|XFLVER (4, 1—-T1=LY) =V 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 49 0 49 49
AVITR—b

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER

1. B - BEVERIDEE

(EBR - t2I%)

x®1-4 #HEFER - FEH

6/ 6R—%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
Bty
B | T T o
7] =]
na WEEH g | BE | 2o | ks | ax | 1w | |asr | 2 | & [ast| x5 [ 258 | tm | e | an | BRE | Ko | 2t
&S m | ® s #H
450IN— (6—X FNF>—2—-FEUYIJ)) —N 0 1 1 0 0 0 1 0 1 0 0 0 0 0 0 0
—XFLFAANNAIVBO—3-5—3
11)') —7FLT7z= (BIBEY TFAHIL
7
W60|YABERNY NI 0 1 1 0 0 0 1 0 1 0 0 0 22 0 22 22
ﬁg-l- 83 126 142 81 0 85 122 15 137 86047 691 86738 123376 68 123444 210182

PRHFE -

DH02FE




ORHHHERUBHEDOTRIEEMEREETER
1. Bt - BEERIDEET (EER - RS - AkEREEXE)
£1—-4 FEFER - £33
(1 /1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
b7
= - =
T K3 =
nE WEE s | oo | en | ke | ok | tm | ma |as | 2 | & |2st]| x5 | 28F | tm | s | a2t | B®2 | Ko | a#
438X FLFooL Y sl o] 4l 4] o of o] 4] of of o 87 0 0 0 87 0 0 0 87
ﬁé-l- 4 0 4 4 0 0 0 4 0 0 0 87 0 0 0 87 0 0 0 87

PRHFE « SH02FE




OEHjBFm%&zﬁﬁiﬂ%@ﬁ%’{t?%g%%ﬁ%%
B - BEERIDEE (EER - 75X F v VHRBER)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
B - %
B ISt Eﬁ%
¥ TokE &8
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= Y E BE
BNNFPUFEVRUVZFDILEY 0 3 3 0 0 0 0 0 3 0 3 0 0 0 0 0 531 0 531 531
BlTFIRVEY 1 0 1 1 0 0 0 1 0 0 0 38 0 0 0 38 0 0 0 38
|F LYV 2 1 2 2 0 0 0 2 1 0 1 1142 0 0 0 1142 36 0 36 1178
239|542 XL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 610 0 610 610
20|12 F LV 4 1 4 4 0 0 0 4 1 0 1 13090 0 0 0 13090 330 0 330 13420
258|1, 3, 5, 7T—FrSTPHFINYTsO [ 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
3. 3. 1. 1(3, 7)1 ThY (34
AFHAFLYFRSIY)
265|7 RSk ROXFILEKT FILEE 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2961, 2, A—RKNUYAFIRVEY 2 0 2 2 0 0 0 2 0 0 0 1304 0 0 0 1304 0 0 0 1304
297(1, 3, B=KNUYAFIRVEY 1 0 1 1 0 0 0 1 0 0 0 1100 0 0 0 1100 0 0 0 1100
28Ry LYSAYLTR— K 1 0 1 1 0 0 0 1 0 0 0 6 0 0 0 6 0 0 0 6
300[hJLT Y 2 1 2 2 0 0 0 2 1 0 1 7700 0 0 0 7700 180 0 180 7880
305|681 &9 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 120 0 120 120
39|79/ — ) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 270 0 270 270
448x9=|//t1 (4, 1—71I=LY) =Y 1 0 1 1 0 0 0 1 0 0 0 3 0 0 0 3 0 0 0 3
AV T R—
&5t 14 9] 2 14 0 0 0 14 9 0 9| 24382 0 0 0| 24382 2077 0 2077 26459

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEVERIOSRE (BER - JLoHAEES)

®1—4 EERFER - EE5
1/ 1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
B
5 - o
T K3 =&
g WHET s [ mm [ op | xm | ok | m s | ent | 2= | Kk |en| s | B8P | 1w | mx | ax [EFZ| o | ewm
s w | & B
NS E=8% 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
22N, N=UXFIKRILLTIR 1 i i i of of o i i 0 1 7000 0 0 o 7000 000 o oo 16000
268|F RS AFIFISLTZAILT 1 R (B 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 140 0 140 140
FOILRIIF S L)
00| ~MJLT Y 3 2 3 3 0 0 0 3 2 0 2 353400 0 0 0 353400 20210 0 20210 373610
305|881 &Y 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 620 0 620 620
B4l H BT — S LTI —TFI 1 1 1 1 0 0 0 1 1 0 1 13 0 0 0 13 920 0 920 933
BBITHIEBER (2—TFIAFUI) 1 1 1 1 0 0 0 1 1 0 1 3 0 0 0 3 430 0 430 433
32| )L —~"FH Y 1 1 1 1 0 0 0 1 1 0 1 3300 0 0 0 3300 0 0 0 3300
405|1F 5 =B 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 370 0 370 370
38| X FIFTHL Y 1 0 1 1 0 0 0 1 0 0 0 41 0 0 0 41 0 0 0 41
MB(XFLVER (4, 1—7z=LV) =¥ 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
LY TER—b
=0 8 9 13 8 0 0 0 8 9 0 9 363757 0 0 0 363757 31690 0 31690 395447

PRHFE « SH02FE



ORHHHERUBHEDOTRIEEMEREETER
1. BB - BEEROKET (EBER -G LE - ARG - EREESF)
£1—-4 FEFER - £33
(1 /1R=%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR

i1
T Tk =5
i1 B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 m | @ B

186[C oA sy (MBEIAFLY) 1 of 1 of o] o of o] o] 5400 0 0 of 5400 0 0 of 5400
300 ML 1 0 1 1 0 0 0 1 0 0 0 2900 0 0 0 2900 0 0 0 2900
A&t 2 0 2 2 0 0 0 2 0 0 0 8300 0 0 0 8300 0 0 0 8300

PRHFE « SH02FE




OBELBIHERUVBHEONRILFMERIRFHER
1. BEH - BEERIDEKE (EEER - 2X - TARRRER)

®1—4 EERFER - EE5
1/ 1R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v

e

e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg | am | SEF | wm | mn | e | BEn | TR an |V

B e

00| ML 1 1 1 1 0 0 0 1 1 0 1 12000 0 0 0 12000 21000 0 21000 33000
30558124 of 1 of of of of of 1 of 1 0 0 0 0 0 93 0 93 93
09— T ILbEY 1 0 1 0 1 0 0 1 0 0 0 0 7 0 0 7 0 0 0 7
walo o B — e —TFI 1 0 1 1 0 0 0 1 0 0 0 500 0 0 0 500 0 0 0 500
35| 7 HLEEER (2 —TFIAFIIL) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 340 0 340 340
405|1F 5 =S 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 400 0 400 400
AN VARV FDILLEY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 500 0 500 500
55t 3 5 7 2 1 0 0 3 5 0 5 12500 7 0 0 12507 22333 0 22333 34840

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
1. HEH - BEERIDEKET (EEE - $KlZ)

®1—4 EERFER - EE5
1/ 1R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v

A

e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg | am | SEF | wm | mn | e | BEn | TR an |V

B e

87|/ O LRU={ 2 O LERY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 o] 8400 o] 8400 8400
w34 x> v8m 1 0 1 1 of o o 1 of o] o 140 0 0 0 140 0 0 0 140
305|881 &Y 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 28000 0 28000 28000
M7V HYRVZEDILEY 0 2 2 0 0 0 0 0 2 0 2 0 0 0 0 of 43200 of 43200 43200
A&t 1 4 5 1 0 0 0 1 4 0 4 0 0 0 0 0 79600 0 79600 79600

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOSKE (EER - FBERRER)

R1—4 #FHEFER - 85
1/ 1R=)
eI BEFETB () Bt M (1) BEIEH (1) it B (ko/4F 4" 4145788 dng-TEQ/ ) BRI ko/TES SV
HEHL- B
% - =
T K3 =
nE WE AT g | mm | oo | s | ok | 2w | [as | 2 | & |ast]| x5 | 28B | wm | mx | ez | E®2 | 50 | as
31 7‘/9’—{—_‘/&(}'%0}{[3@% 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 260 0 260 260
132|390 FROZDIEESY 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
@;%-l- 0 1 3 0 0 0 0 0 1 0 1 0 0 0 0 0 260 0 260 260

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER

1. B - BEERIOERE (KER - @BREEER)
R1—4 TWEFER - XMER
1/ 1R=3)
eI BEFETB () Bt M (1) BEIEH (1) it B (ko/4F 4" 4145788 dng-TEQ/ ) BRI ko/TES SV
%%d;
g M s | mm | 2o | x| ok | wm |mer ae | B | & aer| xn | 98P | xa | mn | e | 2R | T0 | aw e
= wo| & BH
1 ﬁﬁ’ﬁd)ﬂ(,ﬁ'ﬁ{bﬁ#@ 2 2 2 1 1 0 0 2 2 1 3 72 17 89 36100 4 36104 36193
BlZTFILRVEY 4 4 4 4 0 0 0 4 4 0 4 5200 0 5200 2683 0 2683 7883
80> L v 4 4 4 4 0 0 0 4 4 0 4 7600 0 7600 2203 0 2203 9803
877 O LRV =iy OL{LEY 1 0 1 1 0 0 0 1 0 0 0 9 0 9 0 0 0 9
88|75l 7 O LEEHD 1 1 1 0 1 0 0 1 1 0 1 0 0 0 4 0 4 4
1323/ NRUOFDIEEY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 2000 0 2000 2000
296[1, 2, A= RNYAFIRVEY 1 1 1 1 0 0 0 1 1 0 1 450 0 450 3 0 3 453
300| ML 4 4 4 4 0 0 0 4 4 0 4 9120 0 9120 351 0 351 9471
02|75 LYV 1 0 1 1 0 0 0 1 0 0 0 2800 0 2800 0 0 0 2800
305158124 0 1 1 0 0 0 0 0 1 0 1 0 0 0 90 0 90 90
308|=w &)L 1 0 1 1 0 0 0 1 0 0 0 2 0 2 0 0 0 2
309|= v H LS 1 0 1 0 1 0 0 1 0 0 0 0 1 1 0 0 0 1
321/ )< —~FH Y 1 0 1 1 0 0 0 1 0 0 0 3000 0 3000 0 0 0 3000
405|1F 5 =S 0 1 1 0 0 0 0 0 1 0 1 0 0 0 7700 0 7700 7700
407|\R") (FAFVITFLY) =FIFII—F 2 2 2 0 2 0 0 2 2 0 2 0 126 126 2500 0 2500 2626
W (TILFINEDRREN1 25515
TOLEDRUVEDEREYICED, )
AR LTILTE R 1 0 1 1 0 0 0 1 0 0 0 84 0 84 0 0 0 84
MTVHYRVTZEDLEY 1 0 1 1 0 0 0 1 0 0 0 47 0 47 0 0 0 47
ABIAFIFT7H LV 1 0 1 1 0 0 0 1 0 0 0 7 0 7 0 0 0 7
= 26 21 29 21 5 0 0 26 21 1 22 28392 145 28537 53633 4 53637 82174
HHERE  SH02FE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (EBER - —ikHSRERESR)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
e
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg | am | SEF | wm | mn | e | BEn | TR an |V
B e

BlrFRVEY 2 1 2 2 0 0 0 2 1 0 1 6200 0 0 0 6200 1700 0 1700 7900
80| LYV 2 1 2 2 0 0 0 2 1 0 1 5900 0 0 0 5900 1400 0 1400 7300
30| ML 1 0 1 1 0 0 0 1 0 0 0 220 0 0 0 220 0 0 0 220
2(FT7HL Y 1 0 1 1 0 0 0 1 0 0 0 84 0 0 0 84 0 0 0 84
A&t 6 2 6 6 0 0 0 6 2 0 2 12404 0 0 0 12404 3100 0 3100 15504

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER

1. BEH - BEVERIORE (EBR - EXMmSaERER)
x=1-4 #WEFRG - EE5H
(1/1R=%)
stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg g | A | B8P | o | | aw (220 TR an |
E BE
0|2—F7I/)TH )= 2 1 3 0 2 0 0 2 1 0 1 0 35 35 0 0 0 35
NEHTILFIRYEY K VBRTED L of 1 o of o 1) of of 0 0 9 9 0 ) ) 9
1B (TILFILEDRFEN 1 00514 &
CRLEDRVZDEEMICRS, )
BlIFILRVEY 2 2 2 2 0 0 0 2 2 0 2| 10000 0 10000 640 0 640( 10640
o 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
o[+ LY 5 3 5 5 0 0 0 5 3 0 3 13790 0 13790 1482 0 1482 15272
82|8R RN F DACAMAL A Y 1 0 2 1 0 0 0 1 0 0 0 10 0 10 0 0 0 10
8710 O LRV =i 7 O LMEEY) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 210 0 210 210
88|75Mf & O LAMEE Y 0 1 1 0 0 0 0 0 1 0 1 0 0 0 500 0 500 500
132(3 /850 R RUZDIEEY 1 2 3 0 1 0 0 1 2 0 2 0 4 4 234 0 234 238
44|\ 7 b eY BEERVY 7 VEsES 0 1 1 0 0 0 0 0 1 0 1 0 0 0 1100 0 1100 1100
186 ;7733:.,<9~/ (BIZislE X FL V) 1 0 1 1 0 0 0 1 0 0 of 20000 0 20000 0 0 o| 20000
265|7 h S E ROXFILEKD & ILEE 0 0 ! 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2961, 2, 4—KNYXFIRVEY 4 1 4 4 0 0 0 4 1 0 1 2187 0 2187 990 0 990 3177
300 h LT Y 5 3 5 5 0 0 0 5 3 0 3| 11720 0 11720 186 0 186] 11906
308|=w b 1 1 1 0 1 0 0 1 1 0 1 0 1 1 28 0 28 29
309|=w A IL{LE 1 1 1 0 1 0 0 1 1 0 1 0 9 9 19 0 19 28
3743 o (LK ER O Z DIKRMEE 0 3 3 0 0 0 0 0 3 0 3 0 0 0| 165500 0| 165500| 165500
4051F > EL &Y 1 0 1 0 1 0 0 1 0 0 0 0 30 30 0 0 0 30
410|RY (AFPIFLY) =/ZLT= 0 1 1 0 0 0 0 0 1 0 1 0 0 o| 40000 o| 40000 40000
I—7)
BeIAFINFTHL Y 2 0 2 2 0 0 0 2 0 0 0 48 0 48 0 0 0 48
At 271 21| 40 20 7 0 of 27 o 21f 57755 88 57843| 210889 0| 210889 268732
BFHFE : SH02FE




OBELBIHERUVBHEONRILFMERIRFHER

1. B - BEIERIOEE (EER - mXAEmSEERER)
F1-4 #WEFRR - XE5H
1/ 1rR=)
s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % é g | A | B8P | o | | aw (220 TR an |
E %
@EDKAEMEEY 2 1 2 0 2 0 0 2 1 0 1 0 49 0 0 49 330 0 330 379
BlZTFILRVEY 4 4 4 4 0 0 0 4 4 0 4 272570 0 0 0 272570 42240 0 42240 314810
|F LYV 7 5 7 7 0 0 0 7 5 0 5| 394244 0 0 0| 394244 55700 0 55700| 449944
87[/ O ARV =flY A LLEY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 56 0 56 56
186(roOx4dy (RLZELEAFLY) 1 1 1 1 0 0 0 1 1 0 1 4000 0 0 0 4000 800 0 800 4800
240(z2FL v 1 0 1 1 0 0 0 1 0 0 0 5900 0 0 0 5900 0 0 0 5900
[Ny TFLYF RS Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
26(1, 2, 4—RNYXAFIRVEY 2 1 2 2 0 0 0 2 1 0 1 1907 0 0 0 1907 180 0 180 2087
29711, 3, B—=hNUXFILIRVEY 1 1 1 1 0 0 0 1 1 0 1 1000 0 0 0 1000 100 0 100 1100
298| Ry LYSA YT R— R 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
00| ML 6 4 6 6 0 0 0 6 4 0 4 123741 0 0 0 123741 24280 0 24280 148021
40513 > =L &M 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
MU HYRCEDEEY 0 4 4 0 0 0 0 0 4 0 4 0 0 0 0 o 25029 o| 25029 25029
M(AFLVYER (4, 1—T7z=LY) =¥ 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R Sl

460V ABE RN R YL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 87 0 87 87
= 24 23 35 22 2 0 0 24 23 0 23 803362 49 0 0 803411 148802 0 148802 952213
HHERE  SH02FE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (KEBER - BRHUHSERER)

®1—4 EERFER - EE5
1/ 1R=%)

eI BEFETB () Bt M (1) BEIEH (1) it B (ko/4F 4" 4145788 dng-TEQ/ ) BRI ko/TES SV
ﬁ%;
i B £ it | Bm | 20 | x5 | ok [ 1w | e | an % § an | xm [ 5P| s | mx | am | E®D E;%ﬁ aar | O
EesE % 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
308|=w )b 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
09— T ILbEY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
55t 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
1. HEH - BEERIDOEKET (EEE - BXHE)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
e
e B £ s e | 2 | nm | oo e |omer | mor | B | K [en| xm | 288 | 1w | mn | aw [ BRR | TT | aw | 7
m | W BD

B|AKE 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2700 0 2700 2700
BlIFIRVEY 1 0 1 1 0 0 0 1 0 0 0 2100 0 0 0 2100 0 0 0 2100
NS E=8% 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
|l LY 1 0 1 1 0 0 0 1 0 0 0 2500 0 0 0 2500 0 0 0 2500
30| ML 1 0 1 1 0 0 0 1 0 0 0 1500 0 0 0 1500 0 0 0 1500
3|l RSV 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BIXFINFTEHLY 1 0 1 1 0 0 0 1 0 0 0 86 0 0 0 86 0 0 0 86
55t 4 1 7 4 0 0 0 4 1 0 1 6186 0 0 0 6186 2700 0 2700 8886

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
1. HEH - BEERIOERET (EEE - TKESR)

®1—4 EERFER - EE5
1/ 2R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
-7
B ki 25
T Tk =5
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
= k| B %E
@Esam KBS 23 of 27 o| 23 0 o 23 0 0 0 0 1981 0 0 1981 0 0 0 1981
Blo—TF)I=0—4—-=rOTz==7]| 10 o 27 o 10 0 o 10 0 0 0 0 1233 0 0 1233 0 0 0 1233
IR/ FATZ—h (BIBREPN)
75|50 RI 9 ARGZEDILEY 9 o 27 0 9 0 0 9 0 0 0 0 16 0 0 16 0 0 0 16
87[/ O ARV =l A LLEY 10 ol 27 o 10 0 ol 10 0 0 0 0 561 0 0 561 0 0 0 561
88|5ffi 2 O L&Y 10 o 27 o 10 0 of 10 0 0 0 0 561 0 0 561 0 0 0 561
m|2—s00—-4, 6—EX (ZFILT7ZI/ 8 of 27 0 8 0 0 8 0 0 0 0 6 0 0 6 0 0 0 6
) =1, 3, 6=r YFPTY (REAYTY
YXIFCAT)
144|mies 7oA GEEROL T UBEE]| 10 of 27 of 10 0 of 10 0 0 0 0 1323 0 0 1323 0 0 0 1323
BR<
147|N, N—=SIFILFAAILNIVES—4 9 o 27 0 9 0 0 9 0 0 0 0 14 0 0 14 0 0 0 14
—ooany Il (REZFANYAILTX
BRVFAA—T)
149|mia b 9 o 27 0 9 0 0 9 0 0 0 0 14 0 0 14 0 0 0 14
50|11, 4—UAFHy 10 o 27 o 10 0 of 10 0 0 0 0 792 0 0 792 0 0 0 792
15711, 2—voonTdy 9 o 27 0 9 0 0 9 0 0 0 0 14 0 0 14 0 0 0 14
1581, 1—-ysonxFLy (AaElkE= 9 o 27 0 9 0 0 9 0 0 0 0 14 0 0 14 0 0 0 14
UTv)
159lv2—1, 2—vsO0TFLY 9 o 27 0 9 0 0 9 0 0 0 0 14 0 0 14 0 0 0 14
17911, 3—vson7Aaxy (B4D—D) 9 o 27 0 9 0 0 9 0 0 0 0 14 0 0 14 0 0 0 14
186U sOOxdy (BLEIXFLY) 9 o 27 0 9 0 0 9 0 0 0 0 14 0 0 14 0 0 0 14
237|KEBR U Z DILEW 9 o 27 0 9 0 0 9 0 0 0 0 8 0 0 8 0 0 0 8
|z L Y RUZTDIEEY 9 of 27 0 9 0 0 9 0 0 0 0 60 0 0 60 0 0 0 60
2434 Sk 6 0 7 0 6 0 0 6 0 0 0 0[0. 0486200 0 0{0. 0486200 0 0 0] 0. 0486200
% 0043 0043 0043
26217 hZO0TF LY 9 of 27 0 9 0 0 9 0 0 0 0 14 0 0 14 0 0 0 14
268|7 NS AFIFISLSZILT 4 R (BIZ 9 o 27 0 9 0 0 9 0 0 0 0 29 0 0 29 0 0 0 29
FIOSLREFZL)
o2lsEskiatE (GEEARC, ) 16 of 27 o 16 0 of 16 0 0 0 0 415 0 0 415 0 0 0 415

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
1. HEH - BEERIOERET (EEE - TKESR)

®1—4 EERFER - EE5
(2 / 2R—%)

REL RS EHTH) HEH 2 () BRI H() SR (ko/ 29" 4449V idng- TEQ/ ) BHE e/ IR
ﬁ%dg
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg | am | SEF | wm | mn | e | BEn | TR an |V
B e

21911, 1, 1=KNYysonoxT4d>v 9 0 27 0 9 0 0 9 0 0 0 0 14 0 0 14 0 0 0 14
28011, 1, 2—HNYsOpxT¥d%Yy 9 0 27 0 9 0 0 9 0 0 0 0 14 0 0 14 0 0 0 14
281|hYysOo0TFL Y 9 o 27 0 9 0 0 9 0 0 0 0 14 0 0 14 0 0 0 14
305|881 &Y 1 0 27 0 " 0 0 n 0 0 0 0 160 0 0 160 0 0 0 160
3R|MERVZDER(ILSY 11 ol 27 of 1 0 of 1 0 0 0 0 61 0 0 61 0 0 0 61
374 3 > b KB RO Z DK A MEE 12 o 27 o 12 0 o 12 0 0 0 0 2074 0 0 2074 0 0 0 2074
400XVt 9 0 27 0 9 0 0 9 0 0 0 0 14 0 0 14 0 0 0 14
405|1F 5 =S 21 0 27 0 21 0 0 21 0 0 0 0 3175 0 0 3175 0 0 0 3175
406 1)k 7 =)L (B%LPCB) 9 ol 27 0 9 0 0 9 0 0 0 0 8 0 0 8 0 0 0 8
AMT VAV RTZDIEEY 22 0 27 0 22 0 0 22 0 0 0 0 1349 0 0 1349 0 0 0 1349

A&t 333 0 817 0 333 0 0 333 0 0 0 0 13974 0 0 13974 0 0 0 13974

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
1. HEH - BEERIOEKET (EEE - BEX)

®1—4 EERFER - EE5
1/ 1R=%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v

e

e B £ s e | 2 | nm | oo e |omer | mor | B | K [en| xm | 288 | 1w | mn | aw [ BRR | TT | aw | 7

w | H o

BlrFRVEY 1 0 1 1 0 0 0 1 0 0 0 26 0 0 0 2% 0 0 0 26
|l LYy 1 0 1 1 0 0 0 1 0 0 0 97 0 0 0 97 0 0 0 97
296|1, 2, 4—MNYXAFIRVEY 1 0 1 1 0 0 0 1 0 0 0 23 0 0 0 23 0 0 0 23
00| ML Y 1 0 1 1 0 0 0 1 0 0 0 670 0 0 0 670 0 0 0 670
3| LTI —~AFHY 1 0 1 1 0 0 0 1 0 0 0 1900 0 0 0 1900 0 0 0 1900
400~V 1 0 1 1 0 0 0 1 0 0 0 140 0 0 0 140 0 0 0 140
48X FIFTEHLY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
55t 6 0 7 6 0 0 0 6 0 0 0 2856 0 0 0 2856 0 0 0 2856

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER

1. B - BEVERIDEE

L - BOHEIRSR)

x®1-4 #HEFER - FEH

1/ 1R=%)

BEE (kg/E; 5 (HIVEIE

HEmE RETEAH () HEHH (1) HEth B (ko/ 5797 4149V 38 Eng-TEQ/ ) ng-TEQ/2)
g ME £ gy | BB | 24 wk |t | m § at BAR | im | mu R e |
= L) ®BH
BlZFILRVE Y 1 0 1 0 0 0 1 0 0 0 1
80|+ Ly 1 0 1 0 0 0 44 0 0 0 44
2961, 2, 4—NYXFILRVEY 1 0 1 0 0 0 11 0 0 0 11
29711, 3, 5—=RKUAFIRVEY 1 0 1 0 0 0 1 0 0 0 1
300 MLV 1 0 1 0 0 0 370 0 0 0 370
32(/ I —~FHY 1 0 1 0 0 0 780 0 0 0 780
400|RVE 1 0 1 0 0 0 76 0 0 0 76
&5t 7 0 7 0 0 0 1293 0 0 0 1293
HHERE  SH02FE




OBELBIHERUVBHEONRILFMERIRFHER
1. B - BEIERIOSKE (EER - MBINER)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg | am | SEF | wm | mn | e | BEn | TR an |V
E %

BlTFINVEY 58 of 65| 58 0 0 o[ s8 0 0 0 36 0 0 0 36 0 0 0 36
|l LYy 137 0| 144] 137 0 0 0| 137 0 0 0 860 0 0 0 860 0 0 0 860
2961, 2, 4A—RKNYAFIRVEY 137 o| 146 137 0 0 0| 137 0 0 0 170 0 0 0 170 0 0 0 170
29711, 3, B5—=hNUXFIRVEY 25 0 59 25 0 0 0 25 0 0 0 3 0 0 0 3 0 0 0 3
300( MLy 136 of 136 136 0 0 of 136 0 0 0 5503 0 0 0 5503 0 0 0 5503
32| ) I —~AFHY 135 o 135] 135 0 0 of 135 0 0 o| 13104 0 0 of 13104 0 0 0 13104
400|Ry 135 of 135 135 0 0 of 135 0 0 0 1199 0 0 0 1199 0 0 0 1199
&5t 763 o 82| 763 0 0 o 763 0 0 o| 20874 0 0 o 20874 0 0 o 20874

PRHFE « SH02FE



ORHHHERUBHEDOTRIEEMEREETER
1. HEH - BEERIDEET (EER - hiEx)
£1—-4 FEFER - £33
(1 /1R=%)

s&mE BEEEFH() B AR (1) BB (1) HEH R (ko/ 550" {142 4ng-TEQ/ %) BRI ko/TES SV
b7
T K3 =
nE WEE s | oo | en | ke | ok | tm | ma |as | 2 | & |2st]| x5 | 28F | tm | s | a2t | B®2 | Ko | a#
ES m| & K B
35|74 LEEE R (2 —TFILAFUIL) of 1 1 of of of of of 1 of 1 0 0 0 0 0 92 0 % %
48| x FF 7451 1 0 1 1 of o o 1 of o] o " 0 0 0 K 0 0 0 "
«SE-I- 1 1 2 1 0 0 0 1 1 0 1 1 0 0 0 11 92 0 92 103

PRHFE « SH02FE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEERIOKE (EBER - BEIEEFESR)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BRE (o i
e
i B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg an | xm [ 5P| s | mx | am | E®D E;%ﬁ aar | O
p=3

BlrFRVEY 1 0 1 1 0 0 0 1 0 0 0 1100 0 0 0 1100 0 0 0 1100
|l LYy 1 0 1 1 0 0 0 1 0 0 0 1300 0 0 0 1300 0 0 0 1300
30| ML 1 0 1 1 0 0 0 1 0 0 0 3700 0 0 0 3700 0 0 0 3700
55t 3 0 3 3 0 0 0 3 0 0 0 6100 0 0 0 6100 0 0 0 6100

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
B - BEVERIOEKE (EER - —ERMLER (THLDERICRD, ) )

®1—4 EERFER - EE5
1/ 2R=%)

s&mE BEEEFH() B AR (1) BB (1) HEH R (ko/ 22" 414948 idng-TEQ/ %) BRI ko/TES SV
B 75
T Y =1
g B £ st | mm | oo | Rm | ok [ m e [ en | = | & [en| xn [ 5P| o | mx | an | E®D| o | aw
5 m | @ B
1| FERD KBS 3 0 4 0 3 0 0 3 0 0 0 0 2 0 0 2 0 0 0 2
slo—TF)IL=0—-4—=—rOTz=)=7 2 0 4 0 2 0 0 2 0 0 0 0 2 0 0 2 0 0 0 2
IZWKRRBR/FAT—b (BIBZEPN)
N E=8% 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
755 RIY ARCZDIESY 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
8717 O L RUV=Ms OL{bED 2 0 4 0 2 0 0 2 0 0 0 0 1 0 0 1 0 0 0 1
88 ﬁ{ﬂﬁauA{tA% 2 0 4 0 2 0 0 2 0 0 0 0 1 0 0 1 0 0 0 1
1M3l2—soo0—4, 6—F2 (TFLF7I/ 1 0 4 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
) =1, 3, 5—RkYTIY (AT
VRIECAT)
144|¥s 7 b (BIERVY 7 VBEIEA 2 0 4 0 2 0 0 2 0 0 0 0 2 0 0 2 0 0 0 2
<. )
147N, N=STFLFAHINI VEES—4 1 0 4 0 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
—pOaRY YN RIBFARVANTR
ERYFFH—T)
149\t ik 3= 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
150] 1, 4 —IF4xHy 2 0 4 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0
157(1, 2—voonTdy 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
158]1, 1—vsoO0TFL Yy (B&ElEE= 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
VFv)
159 2—1, 2—vsonTFLY 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
179(1, 3—vsoo7 o~y (B4&D—-D) 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
18| snoxsy (REEEXFLY) of of 4] of of of of of o of o 0 0 0 0 0 0 0 0 0
237 7J($E&U%0)ﬂ:é¢@ 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
WL Y RUZDIEEY of o 4 of of of of of o of o 0 0 0 0 0 0 0 0 0
243|4°A j#y‘/i 7 6 9 5 3 0 2 10 6 2 8 79.222| 7.100379 0 14810 14896.%25 6965 0.071| 6965.071 21861.%93
7 7
2602l MO0 FL YV 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
268[F NSAFIFISLIZILT 4R (5l oo 4 of e opTp0p0p 0 0 0 0 0 0 0 0 0 0
FUOSLIEFSL)

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (EBER - —RERMUER (THLDEICRD, ) )

®1—4 EERFER - EE5
(2 / 2R—%)

stgimE REBEFL) L2 () BRI () HEHR (ka/ 22 444978 idng-TEQ/4E) BIE Ko/ T v
aa%d;
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % § an | xm [ 5P| s | mx | am | E®D z%a]ﬁ aar | O

28RKAME (SEEAKRC, ) o[ of 4l o 2f of of 2f o o o 0 0 0 0 0 0 0 0
a9[1, 1, 1—rysOOTHY 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
28001, 1, 2—bNUYsOQxTH YV 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
| ysooTFLY of of 4] of of of of of o of o 0 0 0 0 0 0 0 0
305|881 &Y 2 0 4 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0
2lpEr vz OERIEAY of ol 4 o o of of of of of 0 0 0 0 0 0 0 0 0
3743 o (L K E RO T DRI o o 4l o] 2l o] ol 2] o o] o 0 4 0 0 4 0 0 0
400~V 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0

405|1F 5 =L EW 3 0 4 0 3 0 0 3 0 0 0 0 39 0 0 39 0 0 0 39
406|R)BIEEZ =)L (BI&PCB) 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
M\ VARV FDILLEY 2 0 4 0 2 0 0 2 0 0 0 0 0 0 0 0 0 0 0

55t 34 6 131 5 30 0 2 37 6 2 8 0 53 0 0 53 0 0 0 53

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
B - BEVERIOEKE (EER - EXRERVADE (BHIEEEXREEDUI =20, ) )

®1—4 EERFER - EE5
1/ 2R=%)

sEmE BEFLIE () T ) BB () HEHR (ko4 5" 41493 3ng-TEQ/ ) BHE e/ IR
Bk
T Y =1
na WAL g | mm | 26 | xm | ok | 1w [ma |an | = | ok |est| ks | B5P | 1w | mu | em [BRZ| Ko | awm
&S | @ A BB B
1|FEEAD KA ILESY 1 0 1 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1
Blo—TF)I=0—4—=—rOTz=)L=7 0 0 1 0 0 0 0 of o] o 0 0 0 0 0 0 0 0 0 0
IZIWNHRRR/FAT—F (BIZLEPN)
N E=8% 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
755 RIY ARCZDIESY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
87|/ O ARO=HY O LERY of of 1 of of of of of of of o 0 0 0 0 0 0 0 0 0
88 ﬁﬁﬁﬁuA{tA% 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
13|2—»0O0—4, 6—FER (TFILTI/ 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
) =1, 3, 5—RkYTIY (AT
VUXIECAT)
14almis 7oAy GEERVLY T UBIEE of of 1 of of of of of of of o 0 0 0 0 0 0 0 0 0
x<. )
147N, N=SITFIFAHINI VES —4 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
—5naRy UL (RIEFARYALTR
ERYFHH—T)
149\t ik 3= 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
150] 1, 4 —IF4xHy 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1571, 2—-yosOO0x4d v 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
158]1, 1—vsoO0TFL Yy (B&ElEE= 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
VF)
159| R— 1, 2—-yosOoO0xFL YV 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
179(1, 3—vsoo7 o~y (B4&D—-D) 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
18| snoxsy (REEEXFLY) 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
237|/KEER UV F @{tﬁq‘,@ 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
22| L Yy RUOFDILEY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
243|4°A 7_]':\:&‘/# 3 2 3 3 1 0 0 4 2 0 2 82.11] 0.000077 0 0182. 110077 32.8 0 32.8]114.91007
7
02|57 hSHoOATFL Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
68|17 hSAFILFISLYAILT 14 K (Bl of of v o o o o 0o 0 of 0 0 0 0 0 0 0 0 0 0
FOSLIEF L)

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (EBER - EXEEVULRX (FIEEEXREERVMLIZ 20, ) )

®1—4 EERFER - EE5
(2 / 2R—%)

sEmE BEFLIE () T ) BB () SRR (ko4 5" 4149/ ng-TEQ/ ) BHE e/ IR
e
e B £ it | Bm | 20 | x5 | ok [ 1w | e | an % ;Jg | am | SEF | wm | mn | e | BEn | TR an |V
E BE

2BRACEME (BEEAKRL, ) of of | o] o of of of of of o 0 0 0 0 0 0 0 0
279(1, 1, 1—rysOOTod Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
201, 1, 2—rysOQTo > 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
21|y o0 xTFL YV 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
305|881 &Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
3R2|MER T DERLEY of of 1] of of of of of o of o 0 0 0 0 0 0 0 0
3743 o (L K E RO T DRI 1 of of of o] 1 of o] e 0 87 0 0 87 0 0 0 87
400\~ €Y 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
405|1F 5 =L EW 1 0 1 0 1 0 0 1 0 0 0 0 24 0 0 24 0 0 0 24
406KV iEIELET7 =)L (BIZPCB) 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
a2l v HY RUGZDIEY of o] 1 of of of of of of of o 0 0 0 0 0 0 0 0

55t 6 2 34 3 4 0 0 7 2 0 2 0 112 0 0 12 0 0 0 112

PRHFE « SH02FE



OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOKE (EBER - SFHERE)

®1—4 EERFER - EE5
1/ 1R=%)

s RE MESHATH () () ) HEHR (ko/ 45”4149V 8ildng-TEQ/ %) BIE Ko/ T v
b7
B K& @%
T K3 =
nE WE AT g | mm | oo | s | ok | 2w | [as | 2 | & |ast]| x5 | 28B | wm | mx | ez | E®2 | 50 | as
0| LYy 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1100 0 1100 1100
ﬁg 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 1100 0 1100 1100

PRHFE « SH02FE




OBELBIHERUVBHEONRILFMERIRFHER
1. Bt - BEIERIOSKE (EBER - BARAMZERAR)

®1—4 EERFER - EE5
1/ 1R=%)

SELL BEERFH) HEH P () BRAS () et B (ko/ B 9" (14 $Ridng-TEQ/ %) BRI ko/TES SV
HE B
B Kt 22
T Tk =1
nE WE AT g | mm | oo | s | ok | 2w | [as | 2 | & |ast]| x5 | 28B | wm | mx | ez | E®2 | 50 | as
23|54 A x> VR 1 0 1 1 0 0 0 1 0 0 0| 0.000039 0 0 0| 0.000039 0 0 0| 0.000039
él\é-f 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0

PRHFE « SH02FE




